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AABCIZBWVT
(1) BC=2, AB=2V2, C=135°0r%, A="[ [Th3.
(2 AC=12, A=120° C=15Dt%, BC="[  |THY, AABC DAEMDE
®#RIZR="] |TH%.

AABCIZEWT
(1) AB=10, BC=8, B=12000t %, CA="[ |T¥3,
(2 BC=+3, CA=7, B=30nt%, AB="[ |T&h3,
(3 AB=y3+1, BC=2, CA=v6 or%, 4=" [, B=" T,

c=[ Tcns.

AABCIZHWT, AB=10, BC=10V3, C=30° D& ¥,
ca="[  Jgrr [ Joss. xrxu, [ <K Jevs.
ca="[  |orx, a=" [, B="[  [Tasvy,
ca="  Jorx, A="[ [, B=" [ THs.

(4] AABC# AB=4, BC=2, cosAABC:% Bk TLE, CA=[ 7 |,

sin ZABC = THY, AABC DA DERIL THd,

[6](1) AABCIZBWT, BC=a, CA=b, AB=c LT 5. LACB#HATHS DD
BETHEHE] T | ThHB, KUTIREZEDE, KO O ~ @ D5bH

51DFENR,

0 a?+b2<e? O b’+c’<a? @ c*+a’<d?
@ a’+bi=c? @ b 4ci=4q? ® c2+a’=bp?
® a’+b2>¢? @O b2+c?>a? ci+a?>b?

2) 3TWORIMRD (i) ~ (vi) TEASGND THED=ZAKEEZS, Db, #HH=
i o |E sta=am v |[EH5.,
G 2, 3, 4 (i) 3, 4, 5 (iii) 4, 5, 6 (iv)
V) 1,2 3 i) 4, V5, VT (i) 2J7, 3V5, 5/3

7, 11, 13



